mEs Al

=
(=

105 B4 E 7 — B4

A S Ba B 5

14

B

PR

pm——

83 : 2-3

SEAER - B8 hEUARE

#

ZERE G

A=

1.

BB E HE ]

2

1z
ENEE
2

........... & . i il
@ & & RN —~ O g
= Q >~ S
[ Q) TR = = I\\ [ kl - LR |
N 11> B
] E_2 \ _ﬂ_2 ||||||||||IE|__M/.| ||||||| >~ - \ONI.\. | — 01
I
S
) 0].. 01.A / Jl. _2 T _u_2 |
- [ ._M, [ / \\ _ _
klew N R B e e I B[R | mmemeeee g
| | W 5 _ A ;
le !
I I
1 %_2 A
r._ \ n_
N 1
I I
e = = = = = =
1K w0 - Q Q
g g
m,_ 7 154 < =4 o 7]
Q +~ Q ) Q

al (bx+c)+d

EAH B BB Tk © y

Z,



5.

s fF y =sinx — 1 (YIENE > Mk a8 -

s (E y = 3siny Y] - W AERY -

s (E y = sin3x HYEE - W FEH -

(1) 3% 2cos’0— 5cos@—3=0 > 53K cosh - (2) #Ftan’ O+tanH—-6=0 > 3K tan @ -

(1) oK f(x) = 2sinx — 1 (U A(EBLRIME . (2) 30K g(x) =2cosx + 3R A B ELE/ ME

6. (1) ?xﬁﬁ‘if(x):2sin(x+%)—ll§l@&ﬁ§éﬁﬁ%’é° 2) B 3= 3cos (x+60°)+ 2 R ol -

7. BRI =<sinx+%)2 SR f (IR (E LR M -
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(1) zXELEE a = sin30° ~ b =sind0° ~ ¢ = sin50°AY A/ »

(2) #=EE#T a =cos10° » b=cos50° >

¢ =cos80° FJ K/N »



